&:(200) M2l +=¢ 2:(210) A== g Mardl = £:(211-02)3 tha RN
2t = = = 3
Off Q&b oA = I =
g-&-d = &b = &8 9
200
Nl2l=g 247,750,860 220,263,757 27,487,103
210
JaHMA+L 30,532,607 23,861,502 6,671,105
211
THARAUTH =2 446,450 446,627 AT7
211-02
SEMMEUHE 446,450 446,627 AN VAR Ss =3
.5 ,870,000& A5,310
oA T 5,133
212
ABZ 7,085,873 7,072,673 13,200
212-08
JIEtMERZ 727,873 714,673 13,200 = Al =3 200,000& - 15,000,000 A 14,800
o3 oA NE=PAR=3= 28,000
213
=2 1,602,795 1,698,512 NG5, 717
213-01
PR 1,565,629 1,683,969 A118,340 o SR LS AIE 55,660
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ox&AA A 141,000
He= 180,000,000& - 300,000,000 A 120,000
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213-04
IEt+==2 37,166 14,543 22,623 o CHAMI A TR ZHH| (52) = 22,623
214
A= 1,255,220 1,227,720 27,500
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INRE R gl gl 1,247,720 1,227,720 20,000/ c &t S B HAL =02
(10,000& x 8,000=) - 60,000,000& = 20,000
214-04
EERNF=Rogel 7,500 0 7,500 e =7 Me B Hel SN L= = 7,500
215
druF=srg 3,080,175 3,290,670 A210,495
215-01
druFsy 3,080,175 3,290,670 A210,495 o2 FE=
568,965,000& - 780,000,000 = ~211,085
cEYHHY I 2 HEs AFNES
1,800,000& x 30% = 540
216
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- = o & o = Y
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220
SAIHAN 2= 217,218,253 196,402,255 20,815,998
221
THAHOH 2= 3,690,000 3,552,675 137,325
221-02
DRI L) 22 3,330,000 3,192,675 137,325 0 B 2R TR SABAD
330,000,000& - 192,675,000& = 137,325
223
Ol8= 326,510 326,546 A 36
223-01
2DBESNEEH 326,510 326,546 NS CHEAE BT - A36
225
HESHU=2 20,000,000 0 20,000,000
225-01
U= Rl 20,000,000 0 20,000,000 e =& JI= = 20,000,000
227
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228-01
S22 23,513 9,200 14,313 oEIOIHZ = AUz = 10,700
oHDE MM = 3,613
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A 9,500 0 9,500 cH YUY TR & - AR = 9,500
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?let=z 139,459 0 139,459 o A2 AH| HEXM 143 (11A) = 139,459
228-04
DEHR %) 402,500 426,500 A24,000 04 AR 2| BIDHE 2
6,000,000& - 30,000,000& = A24,000
228-07
CHIEtE S ¢ 3,358,788 2,988,757 370,031 o 235t0l= 2elAte (22) = A3,383
oF 2| AtY = 23,591
o B AL = 253,009
SHIHEAMEHT SEALRYS 52 = 8,109
SlPIIA AIEINEAIY SHIEEXES AIS &N
11,691,000& - 13,486,000 = A1,795
ST AJIZUAMY FHEIH ('02HER) = 31,265
ST AJIZ2UAMY HEBIH ('03EEE) = 5,645
oELW MBS L MENSYREA = 4,966
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